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Note : The paper contains three sections A, B and C. 

Instructions are given in each section along with marks. 

SECTION-A 
Answer any two questions from this section : 2x12=24 

1. Explain the concept of production possibility 
curve. Enumerate its assumptions with the help 
of an example. 

2. State the law of diminishing marginal utility. Is 
the law applicable to money? Explain. 

3. What do you mean by Market Structure ? Explain 
a firm's long period equilibrium under perfect 
competition. 

4. What do you mean by laws of return to scale ? 
Explain the properties of an isoquant. 
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SECTION-B 
Answer any two questions from this section : 2x8=16 

5. Explain the concept of supply and point out its 
determinants. 

6. Explain the out lay method of measuring price 
elasticity of demand point out the importance of 
elasticity of demand. 

7. Explain the concept of indifference curves. What 
are its assumptions ? 

8. Discuss the Ricardian theory of Rent. 

SECTION-C 
9. Attempt any two questions of the following : 2x5=10 

(a) Collective bargaining 
(b) Distinguish between fixed and variable cost 
(c) Causes of income inequality 
(d) Relevance of time to equilibrium 
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